DCST920P1 Service List

Level | Balloon Number Description
1 0001 90613418 SA HANDLE
1 0002 90602632 RING, RUBBER
1 0003 90608944 PIN, DOWEL
1 0004 90600458 SWITCH, MOMENTARY, 18MM LEVER
1 0005 90608663-01 HARNESS, WIRE
1 0006 90609633 COVER, ROD AREA WIRE
1 0007 90602320 ACTUATOR, 2-SPEED
1 0008 N014681 SPEED SELECTOR DETENT SPRING
1 0009 90601034 ACTUATOR, LOCK-OFF
1 0010 90602633 SPRING, LOCK-OFF
1 0011 90608942 PIN, ACTUATOR PIVOT
1 0012 90599030 ACTUATOR, TRIGGER
1 0013 90602634 SPRING, ACTUATOR
1 0014 90614754 LINKAGE, 20V DEWALT
1 0015 90616309 MODULE ASSEMBLY, BRUSHLESS STRING TRIMMER
1 0016 90614124-02 SCREW, PLSTC THD FORM, M4X19 T20
1 0017 90613426 SA MOTOR AND PINION, BC50 20V
1 0018 90614124 SCREW, PLSTC THD FORM, M3X16 T10
1 0019 90612360-01 SA CABLE HARNESS
1 0020 90614000 SA CAP, END BRUSHLESS
1 0021 330019-15 SCREW, PLSTC THD FRM, M4X32 T20
1 0022 90601861 SPINDLE
1 0023 N027674 RETAINING RING D12
1 0024 90613629 SA GUARD, 13", DEWALT
1 0025 90614124-01 SCREW, PLSTC THD FORM, M3.5X13 T15
1 0026 098197-02 WASHER, LOCK
1 0027 90614124-06 SCREW, PLSTC THD FORM, M5.28X16 T25
1 0028 90607066 SPINDLE LOCK PLATE
1 0029 90599025 SA BUMP SPOOL
1 0030 370023 NUT, NYLOC, M8
1 0031 90617532 SA POLE WITH LABEL
1 0032 90615950 GEAR CASE CLAMP
1 0033 90614124-07 SCREW, PLSTC THD FORM, M4.55X13 T20
1 0034 90614124-04 SCREW, PLSTC THD FORM M5X25 T25
1 0035 90603784 AUX HANDLE, FRAME
1 0036 90608998 CLAMP, HANDLE (BRUSHLESS)
1 0037 330016-15 WASHER, PLAIN
1 0038 90614038 SCREW, CAP, SCKT HD, M5X22
1 0039 90603783 AUX HANDLE
1 0040 90615599 WASHER, FLAT
1 0041 90620113 MANUAL, INSTRUCTION DCST920P1-QU
1 0042 90601087 SPOOL
1 0043 90617968 LABEL, RATING, DCST920
1 0044 90617534 LABEL, INFO POLE, DCST920




0045

906134245V

SA GEAR CASE

0046

906157645V

SA GEAR CASE COVER WITH GEAR




10

13

12

10

19

14

13

12

11

10

10

‘e T e e mE
TR IR Bl . T 1 R BT AT

sSSIATHSNHa XN / XvinADZ

20vMAX /| JRBRUSHLESS

GENERATED FROM: THIRD ANGLE |[TOL UNLESS SPECIFIED
PROJECT ION SLACK & DECKER INC.

0 & 1 PLC DEC:+20.3
5 @G 2 Pre ok =019 IpOC NO: EXPLORE DRAWING

ANGLES: = 1.0

THIS DOCUMENT IS THE PROPERTY OF BLACK & ALL DIMENSIONS nm

DECKER INC. THE CONTENTS OF THIS DOCUMENT

ARE CONF IDENTIAL AND CONSTITUTE TRADE ; :

SECRETS PROPRIETARY TO BLACK & DECKER Inc. |[° ZE: REF SCALE: REVISITON: x*xx VER/‘ TER - **xx
NEITHER THIS DOCUMENT NOR ITS' CONTENTS 1 : :

SHALL BE DISCLOSED TO ANY UNAUTHORIZED

PERSON, COPIED OR PUBLISHED WITHOUT PRIOR

WRITTEN CONSENT OF BLACK & DECKER INC. STEET CHANGE - xx*x REFER 10O PDF %xxx

COPYRIGHT © 2014 BLACK & DECKER INC. T OF 1 1

D C B A

CPG 518.6

TITLE: EXPLORE DRAWING DCST920



	DCST920P1-SERV.pdf
	pmlistdata

	DCST920 EXPLORED DRAWING.pdf

